.

91. P VIAGQ g aFq) SR @9 ?

92.

93.

94.

Adda

|

7

aeal

OTET - P-lI

| aqi@e aio |

|SOCIAL STUDIES |

(A) SARGS

(B) QRR1 aoaen
(C) 46991 QuIRe
(D) [eoay ade

g@a":‘c?' Q*gswm A9 AR NGYQ
SRS 96% ?

(A) QB9 QTG

(B) QM 7T

(C) 91 Qsige

(D) SR AAYQ

RAUAG 6REOIT Padt 2ERER 0D
62108 ?

(A) 4
(B) 2
(C) 6
(D) 5

FaRge v 6Q6S GYIIR SIEAIE
R999 gaIRe agYel A0IRQ YRR Q@

263 ? .
(A) 9F6EAR (87

(B) 6dlq S@d
(C) §oRGad

)
(D) 6A&TG 962
(55)

91. Who was the first woman Chief Minister

92.

93.

94.

of Independent India ?
(A) Jayalalitha

(B) Nandini Satpathy
(C) Sucheta Kripalani
(D) Vijaya Laxmi Pandit

The three tier system of local
government does not include the

(A) Panchayat Samiti
(B) Village Committee
(C) Gram Panchayat

(D) Zilla Parishad

India is divided into how many
earthquake zones (seismic zones) ?

(A) 4
(B) 2
(C) 6
(D) 5

Which one of the following is the most
important factor that influences the
distribution of temperature on the earth ?

(A) Insolation

(B) Solar radiation

(C) Terrestrial radiation
(D) None of the above

(Continued)
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05. B cede aaaigiae Qg A6
qauel FEINE @RI ?
(A) Qi
(B) fRUIAR
(C) aad
(D) AsIed

6006 RERIA FYIRIRER 9@ qa-gIaM
JFE RAKXNE 26G' ?

96.

Q41
RUSYIRRD
PIRE AR

(A)
(B)
(C)
(D) 8]

3¢ FRIQ 624! AIQEY BFHIER 6R%IAI

Q2 ?
(A) SIB1A AGSALAS G

(B) SIBIL 21 ageqor 2aeH
(C) D212 FLUS 6 g A
(D) QUg@eal GEIRE &g

97.

98. QAR IR F6CID 699 ST O
Q6% ?
(A) 92IQ Q1A §e6Q TY N8 F6
FQUARE
(B) 9269 @7 4RRIQ 1agl QFF
(C) g6a @ISR 4ol 7dia daq
QGG 296 SAUAIR2IN
(D) \g6a @8 8 AdIEeD Qidyaid
@l @aedId @09 A7I63 2A9A7

genaixeld

‘-

(56)

96.

97.

98.

@TET - P-ID

he following refers to
cription with value

Which is an audio-visual aid in history
teaching ?

(A) Charts

(B) Dramatization

(C) Loudspeaker

(D) Picture

Which of the following forests is not
found in Odisha ?

(A)
(B)
)
)

Tropical semi evergreen forest
Tropical wet deciduous forest
(C) Tropical thorn and shrub forest

(D) Coastal tidal forest

Which of the following statements is not
true for sanctuary ?

Cattle grazing is prohibited within
its boundary
It has less security features

It allows various programmes for
protection of the wildlife

It allows the land to be used for
certain beneficial purposes

(Continued)
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99. Qamﬂ@ 6QQ 2 166
69716 Reqyg HI&JIQGQ SRR ?
(A) QI9Q ARIgg 1892 odq auqe
(B) WI9Q QeQige 1909 adql 2igg
(C) @19e Qeqige 1919 el zige
(D) Q9% ASQIeE 1935 g ARG

00. 699 6981 ASGRIR g ada eige

el FBAIR QA 0T eryqiq AFEAIRR
QReml ?

(A) UBAUR 2caRa
(B) o
(C) wlae
(D) SeGnYIE

101. 919G AR AR F0RGI I

6@6C QUCER AF FJaR! 6QEIAIN ?

QEeIR 696 AgR JUIE 9e1d @A
924 @6 ?

102.

(A) Foacae
(B) digrae
(C) QIGeneoI’ Naw

(D) Quesqs A3

99,

100.

101.

102.

OTET - P-li

Which of the following Act was based
on Montague-Chelmsford Report ?

(A) Government of India Act, 1892
(B) Government of India Act, 1909
(C) Government of India Act, 1919
(D) Government of India Act, 1935

The first country to allow Voting Rights
for all groups of people was

(A) USA

(B) Russia

(C) India

(D) New Zealand

Approximately what percent of the total
volume of India has alluvial soil ?

(A) 25
(B) 43
(C) 65
(D) 83

zone of the Earth
receives direct rays of sun.

(A) Frigid

(B) Temperate
(C) Torrid

(D) All of the above

(Continued)
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103. QI 32 QUARIA gaxIee 6
266" ?

@ %

(A) wug— |
(B) @ig— lI
(C) wua— M
(D) «uel— IV

104. QIaeia gRdee gq SRaa A6s

5 erig 696 6ada QARG FRIAINE ?

(A) <3¢ gl
(B) acamel
(C) QIR
(D) efiie
105. G618 AR 696 QIR JREER
JRIFIGIe IRTAIR 9G4 26T ?

(A) FI69Q4<), AFR0E GEQI 6 QiKY
ARIAER SFE
(B) 2gead, adi6aseé 6 QIdi qIesq
d6
(C) eganIa, adiseél G AeaagySl

(D) 2gARIR, AFIEITE B QI Alneq
a8

(58)

103.

104.

105.

| e

[ OTET - P-D

hich Part of the

o 32 belong® to-w

The idea of the Concurrent List of

Indian Constitution has been from the

Constitution of which of the following
countries ?

(A) South Africa

(B) Australia

(C) Canada

(D) Germany

Which of the following is correct
in laboratory method of teaching
geography ?

(A) Learning by doing, imitation and
memorisation

(B) Learning by doing, observation and
imitation

(C) Learning by investigation,
observation and memorisation

(D) Learning by doing, observationand
investigation

(Continued)
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106. 96917 FAAKQ zedide o@e 106. Which of the following method is

& " ul — isable while teaching international
AARH S84 anaea Gow cad aedd 32$;|c|;i?]e in geography ?g
QI6LIGN 2ES?

A) Q6RI8 AdicenE . (A) Indirect observation-cum-Discussion

(B) 96948 ALYERRE @ 2RI (B) Direct observation-cum-Discussion
(C) 6@ MR (C) Only Discussion
(D) QUsImy AAg (D) All of the above

107. 49 ﬂ‘u? S9AC QG SaleIRea o 107. Which of the following is not a type of
QAR ATEA FIFA IR RIQ §6% ? story in story-telling method of teaching

history ?

(A) AN RIS
(A) True story

B) @qeal
Ecz j i (B) Legends
6dlQUsIR
(C) Myth
(D) @leal (D) Biography

108. §6qI9 FUQ 6QQ AR AEFET @GId 108. Which of the following is not a space

JAI0R ANA6R AW AFQ FARIER symbol which helps us to draw time line
QI PR Q1@ ? in teaching history ?

(A) fGaae (A) Location
(B) QA AR (B) Duration
(C) 9w (C) Distance
(D) Q4ql (D) Description
109. ARG AR QA6R RS e 109. When was United Nations Commission
26019 6969 QAT 62IRERI ? on Human Rights established ?
(A) 1946 (A) 1946
(B) 1950 (8): 1830
(C) 1949 (C) 1949
(D) 1948 (D) 1948
D (59) (Continued)
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110. adaRs g6q AEITE
gein QIeas 62ase
(A) ©3QI6e8 gaIT
(B) ©8 9868 UGN e

(c) §198e qeIst
(D) §1Q1RA Qe 6Q8€1

cal@ge! qIe6e

AUIQE

111. 69Q QIgAgRIa 9Q 2198
qea Qg

@l e 620IR 6aIalIed!
QeI ?

(A) 6a6QQ2AQ

(B) aedidaa

(C) 6gI6aiFaR

(D) |6TIFAR

112. 629 QIAAIGIEA §RQ AR TF!
2 ?
(A) 100°C
(B) 4°C
(C) o°C
(D) —4°C

113. 6Q 29aI7 a2 JRfieda AR 6g!
@a(sszﬂm QUAGI AFAIR AI0IGA AF6R
Aloedel guIas @aeem ?

(A) NCERT
(B) NCTE
(C) ICHR
(D) UGC

(60)

110-

111,

112.

113.

Corerzee P

resident of India who elecy,
&

first
Then imo us|y was

ynan!
asad

o Dr- RN ™
APJ Abdul Kalam

® P
©) Sri pranab Mukharji

©) gri Neelam Sanjeeva Reddy

h atmospheric layer contains jon

whic
eless communication 9

and helps in wir
(A) Mesospheré
® T hermosphere

(C) Troposphere
(D) Stratosphere |

Water has its maximum density at what
temperature ?

(A) 100°C
(B) 4°C
(C) 0°C
(D) —4°C

Which ir}stitution suggested guidelinefor
class wise distribution of Indian History
syllabus for upper primary stage ?

(A) NCERT
(B) NCTE
(C) ICHR

(D) UGC
(Continued
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114. QG2 JQIQIe g6 NP R 114. Biographical method of teaching history
QU UM TS 60 0Q ageq LGS 3 based on which theory ?
(A) AIER AeqIRe (A) Cultural epoch
(B) €1919Qa (B) Great man
(C) 4REcas (C) Cyclic
(D) SRR (D) Developmental
115. QLA GAAAEA QI Iy, aIdt 115. Ramayana was translated into Persian
QAR L FIAU 2RI FRAARYR ? at Akbar’s court by whom ?
(A) oo (A) Faizi
(B) YIRS (B) Abul Fazi
(C) QI (C) Badayuni
(D) 2IF 29IRn Jaga1 (D) Haii Ibrahim Sirhindi
116. I0213? AR ‘691A 6dlar’ 62a TR 116. The historic place ‘Chauri Chaura’ is
2080 ? situated in which district ?
(A) USRI (A) Prayagraj
(B) €9IQEigR (B) Gorakhpur
(C) @YW (C) Kanpur
(D) agl (D) Agra
117. 600 9915 U@ g8 QUGS AU 69Q 117. Which one amongst the following rivers
e 62028 ? flows through a rift valley ?
(A) f2IRe1 (A) Mahanadi
B) oF (B) Tapti
(C) <Iceat (C) Kaveri
(D) 9%9e (D) Brahmaputra
D g (61) (Continued)
e - &
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118. 9@ Qedq ggee SNFIER

QNG 9@ eq quq Qe I8 ORLY

FIRYS 6o ZyeIag QRaR ¢aR ?
(A) QQULGIQ 2RI

(B) INRGIQ AR
(C) eamq Sge 2y

(D) UEIGE IRIAGIR TRISIR

119, ofaiq daeiesa “ggr @ a2 @8 ?

(A) s adey
(B) 99
(C) 9ee
(D) 6<16dG ges

120. S99 622 FRIGT a6a a1l 9BRIa
LALAER ARS Q1T ?
(A) 999 *%aIQ
(B) Q1919 2821
C) «Iv1a adaa
(D) aesIon &g

21, Q6QI8 FAUQ 62RT RETIR ARG

a8d gew ?

(A) QIR
(B) gee

(C) adysegd
(D) 69g 9y

(62)

118.

119.

120.

121.

[ OTETZ 2N

The situation like “13 year old Chilg
working in a factory n.wanufacturing
carpets” violates, which c?f the
following Fundamental Rights 2

(A) Right to Equality

(B) Right to Freedom

(c) Right Against Exploitation
(D) Rightto Freedom of Religion

What is the source of “coin” in teaching
history ?

(A) Literary source

(B) Anthropological source

(C) Archaeological source

(D) None of the above

Which of the following section a student
cannot found in a history museum ?

(A) Geological history
(B) Local history
(C) National history

(D) International history

Which of the following is not a method
of teaching geography ?

(A) Dramatization
(B) Project
(C) Observation
(D) Field trip

(Continue!
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122. REOIR SAG6R 6065 2ugHe Ol
Sa?

(A) €I0YQaQ
(B) Q|
(C) fIege
(D) QRN

123. Q89 96999 eqigy
QRIKIRAIER |
(A) BIY RAQIBIA QRqlg
(B) QIcaeIa PRI

(C) 98 9°QIg
(D) 91914 &g *RAIY

6QIM

124, 6066 90 AR GRIFaA
QUIRANN 694 ?
(A) 98K BEARR
(B) @10
C) QIR
(D) esee@aie

125. 569 690 QIMGRP FFIal AaT

gauea 5de ada A6AR AMeR T

QAQe 328 ?
(A) 2UggeRd, ARIRIG 1 IRAIT

(B) f2IQIg, geaIe, 98IS & At
| 4G° FRIGERE

geaIs 1e° aIedlR

(C) qeaIe, aaie, 2T
(D) LAY, UGS,

(63)

122,

128.

124.

125.

OTET - P-li

Find the odd one out in respect of
geography teaching.

(A) Textbook

(B) Globe

(C) Map

(D) Charts

Uttar Pradesh’s climate can be referred

as
(A) Humid subtropical climate

(B) Temperate climate
(C) Dry climate
(D) Tropical wet climate

Which is the largest uranium producing
country in the world ?

(A) USA
(B) India
(C) Kazakhstan
(D) Uzbekistan

Sardar Sarovar Dam built over Narmada
River benefits which of the following

States ?

(A) Andhra Pradesh, Maharashtra and
Gujarat

(B) Maharashtra, Gujarat, Punjab and
Haryana

(C) Gujarat, Punjab, Haryana and

Madhya Pradesh

Maharashtra, Madhya Pradesh

Gujarat and Rajasthan

(Continued)
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126. GoRge wdege nug 6e6e

QIPHLR I Oleq YR FERIRT
ERIRAN ?

(A) 8
(B) Qeq
(C) Quiaes
(D) sq

127. 6aQ aeRIdsa SRassa agg 649

QRAN SIRAQ F'E GRIAN ?
(A) @age
(B) s
(©) eaga
(D) QILGH
128.. 9RAIT AT6AIRIR A6SIS §6T 6965 ?
(A) RRQG
(B) QIERRE!
C) «d
(D) 6QBeAIRT

129. 600985 2101 43 6 215 9 26Hifse

A AYALRA UGS A QIR 9@

A6 JRIF QUL ?

(A) aIFIIS gaIRM
(B) adyeqme
(C) asg4

(D) <aeqIs ang

(64)

126.

127.

128.

129,

[ OTET- P.D

in Jharkhand is the leag;
K?::Jrcl?' of which one of the f°“°Wing
p

minerals ?
(A) Mica
(B) Bauxite
(C) lronoré
(D) Copper

A landmass bounded by sea on threq
sides is referred to as

(A) Coast
(B) Island
(C) Peninsula

(D) Plateau

The highest peak in the Eastern Ghats is
(A) Anai Mudi

(B) Kanchenjunga

(C) Khasi

(D) Deomali

Which methodis appropriate to measure
the humidity of the atmosphere by dry

and wet bulb thermometer and mention
itin a chart ?

(A) Laboratory
(B) Observation
(C) Experimental

(D) All of the above
(Continued)

Scanned by CamScanner



130. &9 6RR QURAGG AN QEHOQd

131.

132.

aea AAE QBN Ing aagen @
NILIQ 6RARATS ?

(A) ©196Q GG am ege (6RCIR 69UR)
(B) QARG 6q)Q

(C) o8
(D) @NAIER A

RIe12 §91 6 A6V aa9e (NCERT)
1988 AQRIEQ egIefie cgaials seagal
AGeERIEa B8 606 adaa Faeea
QELNINECR JUIRE *QUAIRE?

(A) 999 OR6A NG YIS FAR g
a8eEea ggs saKIRgRe 936e

(B) JLIEiAIes QAR uada Ieade cang
9% 629Eq Caa /AR ¥e° W5
Qa0 gage @6

(C) Fadinies geel AGaIde JeRgd
ceNgER Q66

(D) 9EAAIQ 6REER Ad 66, Falehauss
6 REIA 8 FA9Ig ABA 6269

cBela Gal Qie QAA6 699C 9ad
0850 1@ QAIRE §9A 962 ?

(A) QdiEEe

(B) o8 @aq

C) auueee

(D) 2RRCIGER

(65)

OTET - P-li

130. Which of the following instrument must

131.

132.

be used mostly than other instrument
while teaching latitude and longitude ?

(A) Skeletal globe

(B) General globe

(C) Picture

(D) Drawing on blackboard

Which of the following is the objective
of teaching history as suggested in
guidelines for upper primary stage by
NCERT in 1988 ?

(A) To promote an understanding of
the major stages in the evolution of
Indian society through the ages

Given certain historical happening
of similar type and pupils should
analyse their causes and develop
historical laws

(B)

(C) Pupils should know the significant

facts in world history

Given certain sources of history,
pupil should able to construct
history out of them

(D)

Which is not a basic principle in project
method when teaching history ?

(A) Activity
(B) Narration of story
(C) Purpose
(D) Experience
(Continued)
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133. g6Taq 6aIRG Acea RETIR FAIRIRR
181 QR QAT @@ ?
(A) MISVIR B QAT
(B) «ueeite g arede
(C) QArqGe 6 Qaa
(D) 98a G an@e

134. Q6QIR S946Q QIgFARa 2GS FIES
IR 696 ARQ AIPAA F2AIRAN ?

(A) asdifiea

(B) 996 ag asfifien

(C) QsqIe B aadq 2edifica
(D) QAR ag

135. Q9RYe aIRygee RIQ 624 AR
EMPARN AR QY AR ?
(A) afiqeer
(B) QI
(C) aiQiq
(D) QIegle

136. GP9I6Q Q@-9S A9908 Gal

IRAIR aAde6geN Ol oF4-adiseq
AN FR adia Tge A6AIRIG

@ g9QIQ Qg qRIAN?
(A) Qfiag aiIpR2Ee

(B) a aiecyase
(C) QUQRE! AR 28R

(D) eaeqg 6x1635 geg

134.

(66)

135.

136.

‘

133. According to Prof. Holtz, what 44

two aims of geography teaching s
(A) Practical and Social

(B) Practical and Cultural

(C) Cultural and Atrtificial

(D) Artificial and Social

To know the humidity of the atmosphgy,
which instrument is necessary Whilg
teaching geography ?

(A) Thermometer

(B) Dry and wet thermometer

(C) Maximum and minimum
thermometer

(D) Barometer

Which among the following States has
the largest number of Lok Sabha seats ?

(A) West Bengal
(B) Gujarat

(C) Assam

(D) Rajasthan

Whattype of topography is the mountain
range, extending from the Shimilipa
range of Mayurbhanj district in North

East to the Malkanagiri district in South
West ?

(A) Western plateay region
(B) Mid mountainous region
(C) Coastal plain region

(D) None of the above

(Continued) |
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137, RARYS 699 89169 sdicaad aq gq
c2ia Q8O 62121 ?
(A) 2989 dql
(B) @lsqa &ql
(C) QUIBAe Jqy
(D) exledTeq qeg

138. 76019 VRAR AR cayen aaq

68 693N ?

(A) 91819 ad6is
(B) I@a

(C) |aQ2

(D) QI91%5aede

FORYE 699 209 ANGI FRER 94T
Qe 694 Fiew ?

139.

(A) 6F1626BIQICA

(B) o6l
(C) SIg-ai6al
(D) SRR

620 od Q8 Q@ AU TR
Q618 QAR * ?

(A) 1773

(B) 1791

(C) 1765

(D) egsqis 6AaaE g6¢

140.

(67)

137.

138.

139.

140.

| OTET - PIi

Minerals are deposited and accumulated
in the stratas of which of the following
rocks ?

(A) Sedimentary rocks
(B) Igneous rocks

(C) Metamorphic rocks
(D) None of the above

To which one of the following types of
vegetation does rubber belong to ?

(A) Tropical deciduous
(B) Himalayan

(C) Tidal

(D) Tropical evergreen

Couple burial was found in which of the
following Harappan sites ?

(A) Mohenjodaro
(B) Harappa
(C) Chanhu-daro
(D) Lothal

Inwhich year did the East India Company
acquire the Diwani of Bengal ?

(A) 1773
(B) 1791
(C) 1765

(D) None of the above

(Continued)
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141. NG QGG 2UCQIRE TNNER FIRYS
6P SI9Q QAR gEAIC! CAIRAIRY Sa@

142,

143.

26 ?
(A) QEILR

(B) saeraut
(C) eeqai

(D) aqe eqie agel

F19I€) QI YRITS AT R0INGI TR
UZEQ 1@ o QNG @€ g ?

29 99° JARAIRAING FIIGA 2RIS
RS 2EQ

(A)

(B) @9 e ¢I2ARCIRE ARG 2R

92! 2169

(C) ¢RI IQ° ARAINAIRE 71216

YD Q0 218Ql

(D) @ueqI’ 6@GAT Q6%

6eQ (deIEe Q@ FaIRY Qg
cRIRgMI ?

(A) 1906

(B) 1909

(C) 1910

(D) 1911

(68)

141.

142.

143.

OTET —E

Which of the following newspaper wagq
founded by Lokmanya Tilak dufing
Indian National Movement ?

(A) Yugantar
(B) Bengalee
(C) Kesari

(D) Amrit Bazar Patrika

What was one of the main reasons
behind Mahatma Gandhi’s decision tq

take up the Khilafat issue ?

(A) To bring more unity among Hindus

and Muslims

(B)

To bring more unity among Hindus

and Christians

(C) Tobringmore unity among Christians

and Muslims

(D) None of the above

'_fhe partition of Bengal was cancelled
In which year ?

(A) 1906
(B) 1909
(C) 1910
(D) 1911

(Continued)
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144, 69199R QLQQ"G. Q2 @ TN QUG 144. The Bourbon dynasty, which had been
FIQ6R VIS 6ANYR, GIRI cae QITRIEN deposed during the French Revolution,
2QAI6R YR8 T8 6aig QiGgaI ? was restored to power after signing the
@ G treaty .Of
_ (A) Vienna
(B) G?Qaf-smgm‘ (B) Constantinople
(C) ﬂlf%q (C) Marseilles
(D) gl (D) Prussia
145. 69Q AQPA YIFALR clIcq IeTe ? 145.  desert lies in the torrid
(A) 2IeQie zone.
(B) EIIGﬂﬁﬁ?lO.A ig; 2:::?:; n
(C) 9o AQHN (C) Cold desert
(D) Y68 ang (D) All of the above

146, FI9RQ 99Q19 AUA 265, 22iIQ 146. The climate in the zone is
ABIYR A B AP AQI Q6L ? moderate, that is, neither too hot nor

_ too cold.

A nee (A) Frigid
(B) @iGaieeI8 AQR (BY: Temperate
(C) gigaae (C) Torrid
(D) ca6xIv 6FE3E ges (D) None of the above

147. 399 qugQ ceed W@ Qaf AIRSe 147. Which of the following is not an essential
968069 2RRIR! QAIQIR §6% ? feature of good map projection ?
(A) Q0@ 6agaAR (A) Correct area
(B) Q0R2IgE (B) Correct shape
(C) Bedq (C) Correct direction
(D) Q0@ A6we (D) Correct symbol

b (69) (Continued)
! ,
/
_‘_ e 8
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148. B6Q)I9 666 QERET REIR QIR

149.

50.

T él,
2R AR geale ande o 218 !
6%

a9, 715 @ Gnie aasa adieade o
(A)
(B)
(C)
(D)

AT Qsady

98 ANA QACAIGT AR
QARIRE REREY
Qa6AIR 663G g6%

GIRYE YR FIQ 6REE AIQGER EAIGIR
QIR el AQARYMI?

(A) gaq aifaa ge

(B) ¥ot1a aifaa ga

(C) and ge

(D) ©9Ie] g®

FIRYE MG FIAR FrRIQ @ SFRA
AId A1 99-R-T@Ra! ge8R ABeER ?

(A) QIERRN NS
(B) Q912 6RIT
(C) deea eRG

(D) QU6QI8 AN

148.

149.

OTET -l}p_" '

of the following objectivg of

Which"i'ng eography Is necessary ,
teaC he facts, concepts, laws ang

w it
inciples of geograpny ?

(A) gpecific objective
(B) ghort term objective
(C) General objective

(D) None of the above

which of the following battle paveq
the way for the foundation of Mughg|

Empire in India ?

(A) First Battle of Panipat
(B) Second Battle of Panipat
(C) Battle of Plassey

(D) Battle of Tarain

150. Which of the following Lodi ruler
introduced the Gaz-i-Sikandari to
measure the land ?

(A) Bahlol Lodi
(B) Ibrahim Lodi
(C) Sikander Lodi
(D) All of the above

(70)

(Continued)
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